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SI. No.1
QBID:1555481

Identify the correct preposition to make a meaningful sentence.

Mirror neurons first came light in the 1980s.
(A) in

(B) on

(C) to

(D) for

Answer Given by Candidate : C

Sl. No.2
QBID:1555482

Identify the meaning of the underline idiom from the options given :

Radha's brother strained every nerve to enable her to get admission in Medical
college.

(a) talked to everyone
(B) spent a large amount of money
(c) met many people

(p) worked very hard

Answer Given by Candidate : D

Sl. No.3
QBID:1555483

Choose the correct option to make a meaningful sentence. His secretary
tive orphanages by today evening.

(A) will vasit
(B) visited
(¢) will have visited
(p) will be visiting

Answer Given by Candidate : A

Sl. No.4
QBID:1555484




Identify synonym for the underlined word in the sentence.

Aman's parents are happy that the couple 1s trying to find an amicable solution to
their problems.

(A) just

(B) desperate

(€) durable

(D) harmonious
Answer Given by Candidate : D

Sl. No.5
QBID:1555485

Pick out the correctly spelt word.
(A) Conscomtions

(B) Contientions

(¢) Cosncemtions

(p) Conscientious
Answer Given by Candidate : A

Sl. No.6
QBID:1555486

Identify the correct active voice for the sentence given below :

You are requested not to switch on the bulb.

(A) Please not switch on the bulb
(B) Switch on the bulb.
(€) Please don't switch on the bulb

(D) Don't switch on the bulb.
Answer Given by Candidate : C

Sl. No.7
QBID:1555487

Identify the correct direct speech for the sentence given below

The Forbes told that it was not responsible for any information published in the
magazine.

The Forbes said "It was not responsible for any mformation published mn the

(A)  magazine"
gazine".

The Forbes said. "We are not responsible for any mnformation published in the

B e ]
®) ma gazme".

The Forbes says. "It is not responsible for any mformation published in the

(© magazine"
gazine".

(D)




The Forbes says, "We are not responsible for any mformation published i the
magazine".

Answer Given by Candidate : C

Sl. No.8
QBID:1555488

Give below are four sentences in jumbled order. Select the option that gives their
correct order.

A. The structure of the building depends on the purpose for which it is erected.

B. People who design a building keep m mind the purpose for which it is being
erected.

C. Humans erect buildngs for various purposes.

D. One bl:li.ldiﬂg may require strength, another may require comfort., and a third
may require space.

Choose the correct answer from the options given below :

() C.D.A.B

B) C.A.D.B

c© B.C.D A

m) D.C.B. A

Answer Given by Candidate : B

Sl. No.9
QBID:1555489

From among the four options given, choose the one which is a grammatically
correct sentence.,

(A) Now. I wants to noticing the things I never saws when I was too busy working.
(8) Now. I want to notice the things I never saw when I was too busy working.
(c) Now, I wanting to noticed the things I never saw when I was to busy working.

(p) Now, I wanted to notice the things I never seen when I was too busys work.

Answer Given by Candidate : Not Answered

Sl. No.10
QBID:15554810

Find out which part of the sentence has an error. If there is no error, mark
option 4.

(A) As the fibers of the words are woven mto the exquisite tapestry.
(B) of a story and the deeps of a hero are portrayed m those words
(¢) The words bring forth those portrayed deeds.

(p) No Error




Answer Given by Candidate : D

Sl. No.11
QBID:15554811

In 1985. the Government of India launched a special vaccination programme
called :

(A) Universal Immunization Programme

(B) Indian Immunization Drive

(c¢) Save. Child. Save Country

(D) Immunization for Secure Future
Answer Given by Candidate : B

Sl. No.12
QBID:15554812

Match List I with List IT

List - I List - IT
Indian Nationals Magsavsay winners under specific category
A Verghese Kurien [. Government Service

B. Boobli Geogre Verghese |[I. Emergent Leadership
IC. James Michale Lyvndoh  |[III. Journalism & Creative Arts
D). Kulandei1 Franics [V. Community Leadership

Choose the correct answer from the options given below :
(A) A-(I). B-(II). C-(III). D-(IV)
(8) A-(II). B-(I). C-(IV). D-(III)
() A-(IV). B-(III). C-(I). D-(II)
(p) A-(III). B-(IV). C-(II). D-(I)

Answer Given by Candidate : C

Sl. No.13
QBID:15554813




Match List - I with List - IT

List -1 List - IT

Type Hydrogen Explanation

R e 1. Generated through electrolysis powered
by nuclear energy

B. Blue 1I. Genm:ate.d ﬁ:om natural gas but the
carbon dioxide is not captured.
III. Generated by splitting natural gas by

D. Grey SMR. and ATR method., Carbon dioxide is
captured.

D. Pink I'V. Generated by electrolysis of water

using renewable energy.

Choose the correct answer from the options given below :
(A) A-(IT). B~(I). C~(III). D-(IV)
(8) A-(IV), B-(III), C~(1I), D~(I)
(c) A-(III), B-(IV), C~(I), D-(II)
(p) A-(I). B-(II), C~(IV)., D-(III)

Answer Given by Candidate : B

Sl. No.14
QBID:15554814

Cartographers are those who make :
(A) draw maps

(8) models of Divine Figures

(©) Snow men

(p) Google Trike

Answer Given by Candidate : C

Sl. No.15
QBID:15554815

In 2003, space shuttle Columbia which carried Indian origin astronaut Kalpana
Chawla, an Israch and five other members disintegrated upon its re-entry to the
Earth's atmosphere.

Name the Isracl astronaut.
(A) Micheal Anderson

(B) Ilan Ramon

(¢) Laurel Clark

(p) Dan's Brovwn
Answer Given by Candidate : B

Sl. No.16




QBID:15554816
Find the next alphabets - VULHI. TSMJIK., RQNLM. POONO.-----

(A) NMPPQ
(8) NMOPQ
(c) ONMMP
(p) KLOMP

Answer Given by Candidate : A

Sl. No.17
QBID:15554817

Aman. Balwinder, Chetan, Mahesh, Pradeep, Deepti are standing in a circle
facing centre. Balwinder 1s in between Deepti and Chetan. Aman is in between
Pradeep and Mahesh. Deepti is to the left of Mahesh. Who is between
Balwinder and Mahesh ?

(A) Deepti
(8) Chetan
(©) Aman
(D) Pradeep

Answer Given by Candidate : A

Sl. No.18
QBID:15554818

Which does not belong with the others ?
(1) Contents

(11) Chapter

(u1) Bibliography

(1v) Research Thesis

(A) Contents

(8) Chapter

(€¢) Research Thesis

(p) Bibliography

Answer Given by Candidate : C

SI. No.19
QBID:15554819




Meena lives in Mumbai and has a house on the western beach. Her younger
cousin Rakesh lives n a small town near Delhi. Rakesh is a frequent visitor to
Mumbai and stays with Meena. Meena has visited Rakesh's house only once in
the past 3 years.

(1) Rakesh likes Meena more than Meena likes Rakesh.
(1) Meena is elder to Rakesh.
(u1) Meena does not like small towns.

(1v) Rakesh wants to buy house on the beach.
(a) Only (1)

(8) Only (i)

(c) Only (i)

(p) Only (1) and (1v)

Answer Given by Candidate : D

SI. No.20
QBID:15554820

Find the missing number,

781534 71; 132,
(A) 218
(B) 223
(c) 191

(p) 221
Answer Given by Candidate : B

Sl. No.21
QBID:15554821

Arrange the following fractions (A-E) in their ascending order.
A.5/8

B. 7/12

C. 13/16

D. 16/29

E. 3/4

Choose the correct answer from the options given below :

(A)




B.E.A. D. £
B) D.B.A. E.C
o C.A.B.E.D
m) D.B.A.C.E

Answer Given by Candidate : B

Sl. No.22
QBID:15554822

A mixture contamns alcohol and water m the ratio 4:3. If 5 liters of water 1s added
to the mixture, the ratio becomes 4:5. The quantity of alcohol in the given
mixture (in liters) 1s :

(A) 12

(B) 10

(c) 14

(p) 11

Answer Given by Candidate : B

SI. No.23
QBID:15554823

The value of 3.157x 4126 3.198 is approximately equal to :
63 972x 2835.121

(A) 0.0023
(B) 0.023
(c) 0.23
(D) 2.3

Answer Given by Candidate : C

Sl. No.24
QBID:15554824
If(x+y):(x-y)=11:1, then 5x+3y

w

X2
(A) 45/4
(B) 4/45
(c) -45/4

(D) -4/45

Answer Given by Candidate : C

Sl. No.25
QBID:15554825

If the difference between compound and simple interest on a certain sum of
money for 3 years at 2% per annum is ¥ 604, then what is the sum ?

(a) ¥ 5.00.000
(B) ¥ 4.50.000
(c) T 5.10.000




(D) % 4.40.000

Answer Given by Candidate : C

Sl. No.26
QBID:1204531

Which of the following technique is used for tracing change in intracellular
location of proteins and metabolites.

(A) Chromatography
(8) DNA foot printing
(c) DNA end labelling

(D) Pulse-chase experiment

78 I S aHHIe UidH 3R IUTeuad @1 HTRe I f&ufa ¥ agaa
&1 9dl @ & fole ST 1 oidl © |

(A) gofeiE

(8) DNA 'R [l
(€) DNA 3= giffeur
(0) U I WanT

Answer Given by Candidate : A

Sl. No.27
QBID:1204532

A specific protein required for infecting a host by corona virus is known as:
(A) Receptor protein

(B8) PDE

(c) Spike protein

(p) Polymerase basic 2

BRI a5ed G [Bd! Al B HHHd $d & (00 Ha90d Ry = o ..
Fed @ |

(A) & HEH

(B) digis.

(C) TI5® Wi
(D) TiciH Jh® 2

Answer Given by Candidate : C

Sl. No.28
QBID:1204533

The most common mitial step to separate water soluble proteins from msoluble
cellular material is-

(A) Electroporation




(B) Differential centrifugation

(¢) Density-gradient centrifugation

(p) Western blotting

fe A IRMEE ve o Sega-Eie WieH & sgaesia SRy gerd $ gus sar g |
(A) TORGMHREA

(B) SEEHUATHS H5ad

(C) WaUEl ¥ H5a
(D) GigE =t

Answer Given by Candidate : D

SI. No.29
QBID:1204534

The pH at which net charge of protein becomes zero under an electrical field at
room temperature is known as

(A) Isoclectric potential
(B) Isothermal pomt
(¢) Isomeric pomt

(D) Isoeclectric pomt

PH form vidl= &1 $u S1a% w6 a9AE W dega 89 31 Sufufy § 3w 8w § S9
& BEA § |

(A) ¥Hdgga faug
(B) AT fog

(c) AmEEE! fag
(D) AT fag

Answer Given by Candidate : D

Sl. No.30
QBID:1204535

The microscope that converts slight difference m the refractive mdex and cell
density into easily observed difference in the light intensity 1z known as-

(A) Phase contract microscope

(8) Bright field microscope

(c) Dark field microscope

(D) Transmission electron microscope

FEAEHET 1 AugAie SR Sl 99d H F0g fimar feara § o v $1 g §
ST & e femar 2 | 39! Fud & |

(A) UIT=T Side T9gas




(B) THaian TYO&E
() Dark Field =wu8=
(D) F=RUI SoEEA gEasi

Answer Given by Candidate : A

Sl. No.31
QBID:1204536

Which of the following Histone protemn found in chromatin has high Lysine
content?

(A) H1

(B) HZA

(c) H3

(p) H4

8 | B9 B Wi, S § uhn 91 & 3R 9 9w asdd oE @ g |
(A) Hl1

(B8) HZA

(c) H3

(p) H4

Answer Given by Candidate : D

Sl. No.32
QBID:1204537

Which of the following techniques may be used for identifying a regulatory
protein that acts by binding to specific sequence of DNA?

(A) Southern blottmg

(8) Northern blotting

(¢) South western blotting
(p) Western blotting

58 9 Y dB-IE al GaIas W & FOEE $I ugaHA &1 DNA & fafty &9 @ gsa
51 T FA § |

(A) =& =midErg
(B) Il WIieEE
(c) =& gigw wridsg
(D) UigH wridErE

Answer Given by Candidate : B

Sl. No.33
QBID:1204538

Which of the following disease in humans is caused due to expanded
microsatellite repeats?

(A) Huntington's disecase




(B) Cystic fibrosis
(¢) Tuberculosis

(p) Alcapatourea

§H & S famrd Ay # faege gageeE Tl S SROE §
(A) T SERI

(B) T Ty

(C) TEREIE

(D) UTHTEIGRE]

Answer Given by Candidate : C

Sl. No.34
QBID:1204539

Which of the following disease 1s associated with Philadelphia chromosome?

(A) Retinoblastoma

(B) Atrial septal defect

(¢) Chronic myelogenous leukemia

(p) Myotonic muscular dystrophy

0 € s faard frefte g & 91y gefa § |
(A) eSramEm

(8) UfgTw WP fapfy

(C) FHIHE ASTIS - v iaar

(p) AEES 9T fExiel

Answer Given by Candidate : D

Sl. No.35
QBID:12045310

A classification system that groups organisms together based on the similarity of
their observable characteristics is known as-

(A) Phylogenetic system
(B) Phenetic system
(c¢) Phyletic system
(p) Complement system

UF TEI0 oA oS oial & g & 914 3991 AJ9aed ARy a4 $1 99l § YR
TR & S S

(A) WIagHig o
(B) hiadi® dF
(C)




Fifageg gGha
(D) TF A

Answer Given by Candidate : A

Sl. No.36
QBID:12045311

A class of Immunoglobulin present in the serum which neutralizes toxins.
activates complements and crosses the placenta to protect the fetus and neonate
18

(a) IgD
(8) IgE
(c) IeG
() IgM

fom ® Sufya sREArAIEE &1 o o faued &1 97 a1 & 00 @UE & 9ipdg a1 Tl &I
YUT 3R e 1218] & &919 & O OR L1 6 |

(a) IgD
(8) IgE
(c) 1gG
(o) I1gM

Answer Given by Candidate : A

Sl. No.37
QBID:12045312

Blood group antigen differs in their
(A) Glycosylation pattern

(8) Phosphorylation pattern

(¢) Methylation pattern

(p) Ubiquitinylation pattern

Tad g WiaeH &9 ver w2

(A) TEISHIETERE Hiced

(B) TRTERRISHRA Hiqed

(c) THusTEH uited

(D) FfawifeArgaer dfeey

Answer Given by Candidate : A

Sl. No.38
QBID:12045313

The replication on template strand always proceeds in 5' to 3" direction. If the
sequence of template strand 18 SATCCCT3', how would the correct sequence of
newly synthesized strand of DNA be read?




(A) ACGGAT

(B) AGGGAT

(c) TAGGGA

(p) TACGCT

ufafy 2mde $S gaen 5' € 3' Ran d wedi € | oft 2@ # B w1 BH §' ATCCCT3 &
T Hwifd DNA @1 &81 &1 Fal &H &1 81 |

(A) ACGGAT

(B) AGGGAT

() TAGGGA

(p) TACGCT

Answer Given by Candidate : C

Sl. No.39
QBID:12045314

Which of the following condition is NOT essential to maintain Hardy-Weinberg
equilibrium 1n a population?

(A) Large randomly mating population
(8) Small randomly mating population
(c) Absence of gene flow

(D) Absence of natural selection

Ffatea # @ =9 9 iy, saden § sEf-dae aa & 790 @A F e o a8
B

(A) TEM=EE T7H &4 TI0] 9E A9
(B) TE=i® W7H 44 arell g o

(C) A WaTg &1 Uiyl
(D) UiFlde 904 HI Uiyl

Answer Given by Candidate : B

Sl. No.40
QBID:12045315

Bacteria produce an enzyme methylase which mainly plays a role in
(A) Modification of DNA

(8) Cutting of DNA

(¢) Repair of DNA

(p) Rearrangement of DNA

TiraTy] fuTEey UosH S S & ol (6 GET 99 | fhad srHt ufie o ar § |
(A) DNA & SUr=u H

(B) DNA & o= d
(©)




DNA & v a §

(D) DNA & gAfgaa |

Answer Given by Candidate : D

Sl. No.41
QBID:12045316

In anaerobic conditions, yeast consumes more glucose than m the presence of
aerobic environment. This phenomenon is known as-

(A) Hatch and Slack effect

(B) Emerson enhancement effect
(c) Warburg effect

(D) Pasteur effect

diee smEmgeidt 1 Rufa # Sore W@ &1 SR Xd & ageid! & gutufa $t Sdar | 59
wfehal & $ed & |

(A) 9 3R WF gHE

(B) SHIEM UHpTa— WHIE

(C) TR JHE
(D) HIH=X UHIg
Answer Given by Candidate : A

Sl. No.42
QBID:12045317

Which DNA repair system is affected in Lynch syndrome?
(A) Nucleotide excision repair

(B) Base excision repair

(c) Mismatch repair

(p) Repair of double strand breaks

for fosm & w1991 DNA 7v9d a3 yuifad sar g |

(A) TIFHERS I=ied AT

(B) T =g AYHA

(C) =HT AIHT

(D) EiEdl ®S! faurer & #vwd

Answer Given by Candidate : C

Sl. No.43
QBID:12045318

Which of the following animal has a pseudocoel?
(A) Ascaris
(B) Fasciola

(¢) Beroe




(D) Sea anemone

ffafEa o 9 59 unfi & Seqer o5 9l 8 2
(A) TR

(B) TERyafer

(c) &

(D) TR THA

Answer Given by Candidate : Not Answered

Sl. No.44
QBID:12045319

Which of the following 1s NOT a characteristic feature of bony fishes?
(A) Presence of paired fins
(8) Laterally compressed body

(€) Presence of homocircal tail

(p) Presence of placoid scales

fFraferead & 3 219 a1 ARy wem s A § 981 ol o ?
(A) TFET TEl @1 Juiid

(B) UIi¥® Tu F Wifed sRR

(C) THaTT Y=z H Iufeuld

(D) UETH Tehi B FuiRyld

Answer Given by Candidate : C

Sl. No.45
QBID:12045320

The method which was first developed for gene mapping in bacteria was
(A) Transformation n 1928

(8) Conjugation in 1946

(¢) Transduction in 1952

(D) Transformation m 1944

fafyy < <itam] & o= ufafeem & R oed oed faefaa &2

(A) 1928 # Fuiam

(B) 1946 H dgmA

(€) 1952 # eFs®HTH

(D) 1944 # BUicRu

Answer Given by Candidate : D

Sl. No.46
QBID:12045321

The gold standard method used for the detection of SARS-CoV-2 mfection is




(A) ELISA

(8) RT-PCR

(¢) Microarray

(p) FISH

SARS Cov-2 I&fHa &1 ual oA & o S s A 8y &1 g9gm fear s g |
(A) ELISA

(8) RT-PCR

(C) HIEHI

(p) FISH

Answer Given by Candidate : B

Sl. No.47
QBID:12045322

Which one of the following phytochemicals produced in plants defend against
herbivores?

(A) Terpenes

(8) Lignin

(¢) Flavonoids

(D) Tannins

Uil ® Seiea MEfiiEd SR $1 9ey WEH MERigl 3 599 $39 & |
(A) =g

(B) ferd=

(€) wiTHIESH

(D) 2

Answer Given by Candidate : D

Sl. No.48
QBID:12045323

The rate of oxygen production is enhanced when there is operation of
(A) Cyclic photophosphorylation

(8) Non-Cyclic photophosphorylation

(c) Both Cyclic and Non-cyclic photophosphorylation

(p) Oxidative phosphorylation

T F e F1 2T 92dl & o 5F fhus] TaeH #4d & |

(A) THIT BlEl BIRPRISUEH

(B) 3ITHIT RIE! BRENISHEH

(C) EHEITHE AR EHT FE] BRBRISHEA

(D)




HRITSET FRERIZOEH

Answer Given by Candidate : A

Sl. No.49
QBID:12045324

The primary acceptor of CO, in C, plants is
(A) Phosphoenolpyruvate

(8) Ribulose 1. 4 diphosphate

(¢) Ribulose 1. 5 diphosphate

(p) Phosphoenolglycerate

C,, didl & CO, =1 it el & |

(A) IERIEATE AEIiae
(B) VSO 1.4- SEHREE
(C) TS 1, 5- SEAEE
(D) HIEREAM Fiene

Answer Given by Candidate : A

SI. No.50
QBID:12045325

The prokaryotic microorgamsm which fixes atmospheric nitrogen m symbiotic
association under aerobic condition i aquatic ferns is-

(A) Rhizobium
(B) Klebsiella
(C) Anabaena

(p) Rhodospirillum

Wb ireh GEToNg ol Welld % § aig &1 guredfa & Sgondl §7uH & ardmawuiy g1sg o
S RRFEE

(A) TEHITETH
(B) TEERTE

(C) TATEA

(D) TETEAITEA

Answer Given by Candidate : C

SI. No.51
QBID:12045326

Which of the following is not a vitamm?
(A) Biotin

(B) Choline

(¢) Histidine




(D) Nicotinamide

=98 € S Gert= T8l g |
(A) SEEH

(B) It

(c) feiEeH

(p) F=ifemrss

Answer Given by Candidate : C

Sl. No.52
QBID:12045327

A cloning vector may not contain
(A) Origin of replication

(8) Multiple cloning site

(¢) Promoter

(D) Selectable marker

U a1 a15® # &l & Sl
(A) WO &1 3aHT

(B) TEHETE T AHE

(C) "HER

(D) fTiER AR

Answer Given by Candidate : B

Sl. No.53
QBID:12045328

A lambda phage genome has a length of
(A) 12.5kb

(B) 24.5kb

() 42.5kb

(D) 84.5kb

TF Srs1 ol form # s S # |

(A) 12.5kb

(B) 24.5kb

() 42.5kb

(D) 84.5kb

Answer Given by Candidate : A

Sl. No.54
QBID:12045329




Chemically synthesized linker molecules contaming recognition sequences of
specific restriction endonucleases for creation of cohesive ends in blunt ended
DNA fragments are generally

(A) 10 bp
(8) 24 bp
(c) 6 bp
(p) 20 bp

TS $U § S dus o) fafty At ceriedng ofime ogee aRo & § o
HHFAE] e X DNA The # 98us RR & Yo Sl ¢ | 59 SWihd a9 0] B
aeTg, fal Bl 8 2

(A) 10 bp
(8) 24 bp
(c) 6bp
(p) 20 bp

Answer Given by Candidate : A

Sl. No.55
QBID:12045330

Which one of the following 1s autormmune disease?
(A) Type I Diabetes Mellitus

(8) Type II Diabetes Mellitus'

(C) Gestational Diabetes

(p) Haemophilia

T 9 B gD fE E 2

(A) T159-1 STESETy Aftes

(B) TI5Y-2 SRSy Aftes

(C) TRYERIT STRacidl

(p) TeHITRieal

Answer Given by Candidate : B

Sl. No.56
QBID:12045331

In which of the following plants, the gametophyte does not represent an
independent free living generation?

(A) Polvtrichum

(B) Funaria

(©) Marchantia

(p) Pinus




fofafaa § 3 299 09, AfREese saw # wdg vigs Oidt weifa adf s 2
(A) UrfietssA
(B) TFLIRET

(C) #ww=f=a
(D) HIE-E

Answer Given by Candidate : D

Sl. No.57
QBID:12045332

Which of the following statement 1s true about Gymnosperms?

(A) Albuminous cells n phloem are absent

(8) The embryo that grows after fertilization 1s exoscopic in nature
(c) Gymnosperms are dioecious in nature

(p) The embryo that grows after fertilization 1s endoscopic in nature
S | B BU HAGaEIol & S8 H e B 7

(A) T ST wligd # e Bt & |

(B) YUl @l e & &15 # Sedl & Sieidl HHid $1 el & |

(C) SATgaTl TsfermsRl Uhfd F g 2 |

(D) YU S (a9 & &1 ® gedl & SFan@l Ueid &1 ol & |

Answer Given by Candidate : B

Sl. No.58
QBID:12045333

Ghaucher disease is a genetic disorder which is associated with
() Endoplasmic reticulum
(8) Golgi apparatus

(€) Peroxisome

(p) Lysosomes

TR S oe o @ 2 9 G 5 % wEEa o
(A) TASITHHE tegeH

(B) T SOeH

(C) TRISAH

(D) TSHH

Answer Given by Candidate: A

Sl. No.59
QBID:12045334

Hematopoietic stem cells are found in




(A) Bone marrow

(B) Liver

() Spleen

(p) Payers patches

YEAIG® WH BIRSE Hol 94! ol & |

(A) TH
() TP
(c) fafes
(D) TOTH e

Answer Given by Candidate : C

Sl. No.60
QBID:12045335

Which of the following vaccine does not provide life time protection?
(A) Polio

(8) Chicken pox

(¢) Small pox

(p) MMR

S § BT CIT SiaTHY & SUTsd ol Sl & |

(A) diferdt

(B) T+ diay

(C) =iEl Al
(p) MMERE

Answer Given by Candidate : B

Sl. No.61
QBID:12045336

The formation of endosperm before fertilization is a characteristic of
(A) Bryophytes

(B) Angiosperms

(c) Gymnosperms

(p) Ptenidophytes

foriee & uedt weead @1 fein frae fafky wemr g o

(A) FHEHIEEH

(B) STETETSH

(C) S

(D) TRETFHTEEH




Answer Given by Candidate : C

Sl. No.62
QBID:12045337

Heterospory 1s not found in

(A) Pinus

(8) Cycas

(c) Selaginella

(D) Pteridium

forew ey frad 38 org ol © o
(A) T4

(B) TIEFH

(c) Rmriuren

(p) <HifszA

Answer Given by Candidate : D

Sl. No.63
QBID:12045338

Diagnostic test used to detect Human Immunodeficiency Virus is

(A) Widal

(B) Autoradiography

(c) ELISA

(D) Precipitation

et glteu &1 Iudn AHa § uferedfiedt faum &1 gar o % e s 2 |
(A) fasm

(B) SHERTSTETE

(c) ELISA

(D) T&T

Answer Given by Candidate : C

Sl. No.64
QBID:12045339

Which one of the following antibody can cross placental barrier?
(a) IgG

(8) IgM

(c) IgE

(p) IgA

S § B HioRe] W HaIYE B 9N X 9 & |

(a) IeG




(8) IgM
(c) IgE
(p) IgA

Answer Given by Candidate : C

Sl. No.65
QBID:12045340

Trypan blue assay is used for the:
(A) Counting of animal cells

(8) Quantification cellular proteins
(¢) Quantification of nucleic acid
(D) Identification of metabolite
XIS wq e fEas fm g |

(A) T BITRE13 BT AT & o
(B) IR UIEH &1 4E1 & fow

(c) TR TS =i A & o

(D) SUYTE & Yga & ey

Answer Given by Candidate : D

Sl. No.66
QBID:12045341

Match List I with List I1

List-I (Enzymes) List-IT (Function)

A. Histone acetyl transferase I. DNA replication

B. Cyclin dependent kinase II. Chromatin remodeling
C. v-antitrypsin II1. Cell cycle regulation
D. Topoisomerase IV. Emphysema

Choose the correct answer from the options given below:
(A) A-IV, B-1, C-II, D-III
(8) A-IV, B-L. C-III, D-II
() A-IL. B-III, C-IV, D-I
(p) A-III, B-IV, C-II, D-I




o= | F T g e e il

EI-1 (TgH)

A. TBEH UREsT SRE
B. e srufea sgaw
C. o-U-cifef

D. TS EHE

(A) A-IV. B-1, C-II, D-III
(8) A-IV. B-I, C-III, D-TI
(c) A-II. B-IIL, C-IV, D-1
(0) A-III, B-IV, C-II, D-1

Answer Given by Candidate : C

TA-11 (Td)

1. DNA wfeey

11. ®Efes fEshm
111, Fifere 9% o

IV, TRETEH

A B 97 faedl d T HEl ALl 99 hifelu:

Sl. No.67
QBID:12045342

Match List I with List IT

List-I (Animal)
A. Annelids

B. Insects

C. Mollusces
D. Cyclostomes

(A) A-L, B-II, C-III., D-IV
(8) A-IL B-III. C-IV, D-I
(c) A-IL B-IV. C-I. D-III
(p) A-III B-II, C-I. D-IV
o |6y g N e S

-1 (@)
A. TgaTE®H
B. ®ie

C. Hites

D. I&H™l

List-II (Larva)

I. Veliger

II. Trochophore
III. Ammocoetes
IV. Catterpillar

Choose the correct answer from the options given below:

FH1-11 (TR

1. 3efoR

II. SHEER

I11. uerdie (s
IV, Sediuer

= few 7T faedl § L IOl a 99 HifFT:




(A) A-IL, B-II, C-III, D-IV
(8) A-IL. B-III. C-IV, D-I
(c) A-IL B-IV. C-I, D-III
(p) A-III, B-II, C-I, D-IV

Answer Given by Candidate : C

Sl. No.68
QBID:12045343

Match List I with List 11

List-I (Hormone) List-II (Function)

. R I. Conversion of glycogen to
i e it o glucose-1 phosphate

II. Increased conversion of
glycogen to glucose

C. Vasopressin II1. Increase synthesis of estrogen

B. FSH

D. Epmephrine m skeletal muscle IV. Reabsorption of water

Choose the correct answer from the options given below:
(a) A-IV, B-1. C-II, D-III

(B) A-IV. B-I. C-III. D-II

(c) A-III, B-IV, C-II, D-I

(p) A-IL. B-III, C-IV, D-I

T 1w g Nl T i

-1 @) 11 ()

A. TFd &1 UtmH 1. WEEEA 1 e |-k # 5o
B. FSH I1. Ws®ie § WHie § giadd &1 de-1
C. gamfEE 1. Ui & HWequ &1 gg41

D. F&m ust § T=feT IV, 96 § Q3@

A few v faeul # TG IO dT 99 hifAT:
(a) A-IV, B-1. C-II. D-III
(8) A-IV, B-1. C-III. D-II
(c) A-IIL B-IV, C-II, D-I
(p) A-II. B-III, C-IV, D-I

Answer Given by Candidate : D

Sl. No.69
QBID:12045344




Match List I with List 11

List-I (Nitrogenous bases)
A. Cytosme

B. 5-methyl-cytosine

C. Adenine

D. Guanine

List-IT (Deaminated product)

I. Thymine

II. Xanthine

IT1. Uraeil

IV. Hypoxanthine

Choose the correct answer from the options given below:

(A) A-IV. B-L. C-II D-III
(8) A-IIL B-L C-IV. D-II
(c) A-IIIL B-IV, C-II, D-I
(0) A-II. B-IIL, C-IV, D-1
o 15w g N e A

-1 (TS &)
A. 9EEEH

B. 5-Afm-agerdE
C. TisHA

D. T@ni-=

TH-11 (fEufHes Iarg)
1. uTsH=
11. w=i=

TI1. T
IV. EEueRE

A BT 97 Ooedl 7 T HEL ST T 99 hifelu:

(A) A-IV, B-I. C-II. D-III
(8) A-II B-I. C-IV, D-II
(c) A-IL B-IV., C-II. D-I
(o) A-IL. B-III. C-IV, D-I

Answer Given by Candidate : B

Sl. No.70
QBID:12045345

Match List I with List I1

List-I (Compound)
A. Dolichol

B. Vitamin-K

C. Vitamin-E

D. Warfarin

List-II (Function)

I. Blood clotting factor
I1. Antioxidant

II1. Anticoagulant

I'V. Sugar carrier

Choose the correct answer from the options given below:




(A) A-IV. B-L C-II D-III
(8) A-IIL B-I C-IV, D-II

(c) A-IIIL B-IV, C-II, D-I

(0) A-IL B-IIIL C-IV, D-I

T |5 @y g e e e

T&1-1 @) THI-11 (F7)

A. Sidi® 1. 790 999 &RE
B. fdafi=-K N IGEIGSIEIEGE
C. fger=-E I11. viasses

D. TR IV. ¥&1 a5

S fgu av fasedl A A HE ST T 9g- HifaT:
(a) A-IV. B-1. C-II. D-III
(8) A-III. B-I, C-IV, D-II
(c) A-II B-IV, C-II, D-I
(p) A-II., B-III, C-IV, D-I

Answer Given by Candidate : A

Sl. No.71
QBID:12045346

Match List I with List IT

List-I (Cell type)  List-II (Function)

A. Macrophages 1. Antibody production

B. B-cells I1. Phagocytosis

III. Interact with macrophages and secret
cytokines

D. Helper T-cells  IV. Interact with infected host cells

C. Cytotoxic T-cells

Choose the correct answer from the options given below:
(A) A-IV, B-I. C-II. D-III
(8) A-IL. B-I, C-IV, D-III
(c) A-IIIL B-IV, C-II, D-I
(p) A-IL B-III, C-IV, D-I




= | F T g e e fifse

-] EREs ST verR)  E-1 @E)

A. Tgfaaife At 1. wferel &1 S@mEA

B. B-#iiter I1. HefTufean

C. EcrEiig® T-Hitel 11, TiaHs & |y s fEan

D. we0& T-SRer TV, Shiia Ol SRS & |y b

S fgu av fasedl A A HE ST T 9g- HifaT:
(a) A-IV. B-1. C-II. D-III
(8) A-II. B-I, C-IV, D-III
(c) A-IIL B-IV, C-II, D-I
(p) A-II., B-III, C-IV, D-I

Answer Given by Candidate : A

Sl. No.72
QBID:12045347

Match List I with List IT

List-I (Name of Scientists) List-II (Discoveries)

A. Avery, Macleod and McCarty I. Complementation analysis

B. Edward Jenner II. Law of equivalence of bases
C. Erwmn Chargaff III. Chemuical basis of heredity
D. Semour Benzer IV. Vaccine

Choose the correct answer from the options given below:
(A) A-IV. B-I, C-II, D-III

(8) A-II, B-I, C-IV, D-III

() A-IV, B-III, C-II, D-I

(p) A-IIIL, B-IV, C-II, D-I

= |5y g e e S

-1 @ &1 ) 11 (@)

A. Tl Asldis IR AFeRE 1. e Rwdww

B. USAS oY I1. &R &1 geais! a9

C. e I I11. HEREal &1 WEfHs AR
D. R §7eR V. &1

= few 7T faedl § L IOl a 99 HifFT:




(A) A-IV, B-I. C-II, D-III
(8) A-II. B-I, C-IV, D-III
(c) A-IV, B-III, C-II. D-I
(p) A-III, B-IV, C-II, D-I

Answer Given by Candidate : D

Sl. No.73
QBID:12045348

Given below are two statements:
Statement I: The application of herbicides to kill unwanted plants is widespread
i agriculture.

Statement IT: DCMU act by blocking electron flow at the quinone acceptors of
photosystem by competing for the binding site of plastoquinone.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I 1s correct but Statement IT 1s incorrect

(D) Statement I is incorrect but Statement I is correct

A 27 Fud fTv T i

FUA 1 UICHAE T TART HY H FeAag 891 H AN A YT BRI J1ar §
I

FU7 11: DCMU - weaeciiohadled @l Sl @l 95 & To¢ @ddld Agl Jahel dF
| X SoigeTd Wag &I Adhed &l H - 5 |

IR FIA & el H @ QU 77 fahedl # T HIY 3995d IR FHT 94
HIraT:

(A) Fo 13 IS T8r &

(B) FYA 1R g4 7eid ¢

(C) T IEET &, eifched &uet I aTeid &

(D) T 17Teid &, oifchel w0l TG &

Answer Given by Candidate : A

Sl. No.74
QBID:12045349




Given below are two statements:

Statement I: In prokaryotes all types of RNAs are transcibed by the holoenzyme,
that consists of several polypeptides (Two a. One B, & One P’ and one © ).
Statement II: The start signals on DNA are called promoters and represent the
mitial binding site for the RNA polymerase.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(€) Statement I 1s correct but Statement IT is incorrect

(D) Statement I i1s incorrect but Statement I is correct

A g @ue fgw e g

FU | WFhplead &§ T UBR & RNA FelveasA & anm Fqaiad & 3R &%
dfecerss F e g & | (G o, UD B, IR TS o Ud)

FUe 11:DNAF §Fd Faa H WA F6d ¢ 3K RNA Dfame 4 o
e & T T e B

IR FIA & el H @ QU 77 fahedl # T HIY 3995d IR FHT 94
it

(A) FYA 3R e T8r &

(B) FY= 13X It 7o &

(C) Fuel IEET &, wifthet &uet I aTeid &

(D) T 13Teid &, oifthel HaeT TR &

Answer Given by Candidate : B

Sl. No.75
QBID:12045350

Given below are two statements:

Statement I: The Glycolytic pathway is the only route available for the oxidation
of sugars in plant cells.

Statement II: In Pentose phosphate pathway. the complete oxidation of one
glucose-6-phosphate molecule to CO, results in production of 12 NADPH

molecules.
In the light of the above statements, choose the correct answer from the options

aiven below:

(A) Both Statement I and Statement IT are correct

(B) Both Statement I and Statement II are mcorrect
(C) Statement I 1s correct but Statement IT 1s mcorrect

(D) Statement I is incorrect but Statement IT is correct




A g due few e §:

FUT - TASHIASTeE T gl fr FIfSesd 7 o & e & B Fad
3ciee § |

el 11: Qeclal WIEhe 9ol #, U Tefehlol-6-BIethe HU &l COp 3 qut
3fFEfEROT T IROMA 12 NADPH 39T T 3ceet & |

IS FUAA & el H, A QU 710 fashedl! F A T Iugad IO H =ad+T
thifat:

(A) Foa 13R IE T8 &

(B) TYA 13X g4 7eid ¢

(C) el 1EET &, wifthet &uet I aTeid &

(D) FUS 1ITAd g, Ached HAT TG &

Answer Given by Candidate : A

Sl. No.76
QBID:12045351

Given below are two statements:

Statement I: Telomeres are sequences at the end of eukaryotic chromosomes
which helps i stabilizing the chromosome.

Statement II: Telomeres end with multiple repeated sequences n the form of
(TTAGGG),, in humans.

In the light of the above statements, choose the correct answer from the options
oiven below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement IT are incorrect
(C) Statement I is correct but Statement I 1s incorrect

(D) Statement I 15 incorrect but Statement I is correct

T g e T 91T g

Fod [: A IHNAeE oA & R W 3gFHd § | S orE &
TaScd H TEaT Fg © |

Ferel 11: Seest R Afvta qeREidd Hawa & @ #3507 (TTAGGG), &
W HGTEL |

SWed &HUA & el H, & GU 710 fashedl # § Ha¥l IUGFd IO & =
FifaT:
(A) U 3R NS T8 &




(B) wuer 13K I EAT 7reid &
(C) HUA I1TET &, olfehel el I 70id &
(D) TS 17Ted &, oifchel el [IHET &

Answer Given by Candidate : A

Sl. No.77
QBID:12045352

Given below are two statements:

Statement I: In agarose gel electrophoresis, the large pore sizes of the low
concentration gels makes possible the separation of very large molecules.
Statement II: In agarose gel electrophoresis. the small pore sizes of the high
concentration gels makes possible the separation of large molecules.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct but Statement IT is ncorrect

(D) Statement I 15 incorrect but Statement I i1s correct

T g e T 91T g

HUA 1: QIR el AFIERTH A FHAGSAT ool & a3 &R & e gga a3
39T &1 JUFHOT & FIA 3T § |

FUT 1] : WIRIS ST SoldeIhRiaT #, 359 deadl od & Bi¢ ISR & fBg a5
39T & JUFHOT & HH A § |

IWIFd HU & Helleh A, A U a1¢ fdhed! # T HIH 3Udd IR T 99
FrfaT:

(A) &UF 13X NS+ Ter &

(8) &y 13K gt 71ed &

(C) T [TET . difthel &=l 13700 &

(D) YU 17Ted &, oifched =T LI TET &

Answer Given by Candidate : C

SlI. No.78
QBID:12045353




Given below are two statements:

Statement I: Mycorrhiza is a symbiotic association between cyanobacteria with
the roots of higher plants

Statement II: Mycorrhizal association is important for nutrient acquisition in
plants under limited condition.

In the light of the above statements. choose the correct answer from the options

given below:

(A) Both Statement I and Statement IT are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I 1s correct but Statement IT 1s incorrect

(D) Statement I is incorrect but Statement I is correct

A g @ue fgw e g

FUA | : Fahde AsaaeRdr AR 3=gax 9l & 5T & @1 Geeidl GFaed
FATT &

Fue 11: Ggaidr Geaey T s@eer # 951 § 9vs 397 & v Ageaaqe’ §

IWed HUA & 3eiieh A, 5 GU 710 faehedl &7 A HaLl IUGFd IO T a4
it

(A) T 1R N T8 ¢

(8) TA 13K LT 7ed &

(C) HUA 1TET &, Afehed T I T6d &

(D) FUA 13700 ¢, Afehet woT LITET &

Answer Given by Candidate : B

Sl. No.79
QBID:12045354

Given below are two statements:

Statement I: Apoptosis 1s a genetically regulated process occurring i specific
tissues during development and disease by which cell destroy itself.

Statement IT: Apoptosis is regulated by intracelluar signals generated from many
secreted cells, cell surface, protem hormones as well as many environmental
stresses.

In the light of the above statements, choose the correct answer from the options
oiven below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement IT are incorrect
(€) Statement I is correct but Statement I 1s incorrect

(D) Statement I 15 incorrect but Statement I is correct




A g due few e §:

FoeT 1 MOl rearfay s ufkar § o @99 s & e 3R A
& AT IS & FcHAIT @’ il § |

mml[:ﬂmmmﬂ?wﬁmgﬁﬁ%ﬁa@ﬁm
AT, RN FT T, NE, GTAT & T T ggd W G0N Faarat
H 3c9eaT BIAT B

IWFd FU F el A, @ QU 3¢ fahedt & § T8 IUTFd IR FHT T4
thitata:

(A) FUF 13R 111 T8 &

(B) &YA 13X g4 7eid ¢

(C) HU I1TET &, olfehel el I 90id &

(D) T 13T &, oifchel 2T [ HET &

Answer Given by Candidate : A

Sl. No.80
QBID:12045355

Given below are two statements:

Statement I: In C4 cycle fixation of CO2 by the carboxylation of phosphoenol
pyruvate i the mesophyll cells results m conversion to malate or aspartate.
Statement II: The transport of C4 acids to the bundle sheath cells leads to
decarboxylation and generation of CO2. which is finally reduced into
carbohydrates via calvin cycle.

In the light of the above statements. choose the mosr appropriate answer from

the options given below:

(A) Both Statement I and Statement IT are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I i1s correct but Statement IT 1s incorrect

(D) Statement I is incorrect but Statement IT is correct




A g due few e §:

FUd 1:Cy cycle & AAha FIFNHHT 7T BEDISATT T5Edd I HIaiFTerlT
& @R CO, & FEieor giar ¢ | 3R aRonasasy #ee 3R waRee &
gfafdd g1 & |

®ue 11:C, s & gerese, wIfdeh3 &1 afiass, Beeffaens it CO, &

3cUGs @ AT axar § | S R 3fer F Ffeas 9w welesse # suaa
AT § |

IWIed HU & Helleh A, A fGU a1¢ fahed! A § HIY IWIFd I & 90
HifeT:

(A) &A= 3R NS Ter &

(B) FYA 1R LI g4 7Teid ¢

(C) T 1TET &, Aifchet & L Teid &

(D) Y 17Ted &, oifchel el LI TGN &

Answer Given by Candidate : B

Sl. No.81
QBID:12045356

Establishment of mammalian cell culture mvolves the following steps.

A. Culture of primary cells

B. Subculture of primary cells

C. Separation of cells from tissue by mechanical or enzymatic method
D. Culture of secondary cells

E. Subculture of secondary cells

Choose the correct answer from the options given below:
(a) C.A.B.D.E
B) A.C.E.B.D
© A.D.C.B.E
() A.D.B.E.C




Y FiREEet F gada F Wiy § HefafEs ge miva g

A, MufEF SifEet &1 9ada

B. WufiE Sifkiwst &1 gggas-

C. FIEFISH FT 308 § JUTHL ARG AR TolgHics &1y R
D. fados st & dada

E. fgdias Sikmesi &1 ggda=

A 8w av faehedl # 9 Tl 3O &1 994 HhiTAT:
(An)y CLA.B.D.E
B) A.C.E.B.D
© A.D C.B.E
m) A.D.B.E.C

Answer Given by Candidate : A

Sl. No.82
QBID:12045357

The steps involved in bacterial translation are

A. Activation of amino acids

B. Imtiation of polypeptide synthesis
C. Aminoacylation tRNA

D. Peptide bond formation

E. Termination of polypeptide

Choose the correct answer from the options given below:
(A) A.C.B.D.E
B) A.C.E.B.D
© A.D C.B.E
m A.D.B.E.C

ST TR | =R 9e @ |

A. THAT Tiys =1 |isgam
B. UIRUYES SS90 &1 WA

C. tRNA &1 TEAEaEasH
D. TPES &= &1 &1

E. difedyise &1 96199

A 8w av faehedl # 9 Tl 3O &1 994 HhiTAT:
(A) A.C.B.D.E
B) A.C.E.B.D
© A.D.C.B.E




o A.ID.B.E.C

Answer Given by Candidate : A

Sl. No.83
QBID:12045358

The sequential steps mvolved in prophase I of meiosis are

A. Chromosome condensation

B. Termmalization of chiasmata

C. Formation of tetrad of bivalents (four strand)
D. Pairing of homologous chromosomes

E. Genetic recombination

Choose the correct answer from the the options given below:
a) A.B.C.D.E
B) A.C.E.B.D
© A.DCEB
m A.D.B.E.C

ST & FUH qaTHa] H ST g ¢ |

A, TURE TYA
B. fusarer &1 efifaagesm
C. feHTe & ¢ers &1 &A1

D. 97299 URE &1 THA
E. STgaifie Tgs™
A 8w 70 Aehedl & O OG0 30X &1 994 il
a) A.B.C.D.E
B) A.C.E.B.D
© A.D. C.EB
m) A.D.B.E.C

Answer Given by Candidate: A

Sl. No.84
QBID:12045359

Arrange the following discoveries in increasing order

A. Greger John Medel discovered the basic principles of Genetics
B. Charles Darwin published a book on origin of species

C. Watson and Crick deciphered DNA structure

D. Friedrich Miescher identified Nuclem

E. Oswald Awery Identified DNA as the transforming principle

Choose the correct answer from the options given below:




(A) AB.C.D.E
B) B.C.E.A. D
© B;A D ELC
m A.D.B.E.C

T gl & S¢d %A H SaiRyd Sl

A. IR F B8 J Aol & (G & @ |

B. e sRfg= witfie &t safi w e s ufaa faan |
C. a1ed iR 5% 3 DNA &1 9391 & $Hedrdd &1 gardl |
D. bigd fagR 3 =fae= &1 ggar |

E. #fRedits 3Rl 7 DNA ¥ uRakid figr #1 99 |

A BT 70 Aedt & § I98 30T & T4 hifA:
(A) ALB.C.D.E
) B.C.E.A. D
© B.A.D.E.C
m A.D.B.E.C

Answer Given by Candidate : C

Sl. No.85
QBID:12045360

Arrange the following in order of their action

A. G1 cyclin CDK Complex

B. APC-cdhl

C. S Phase cyclin CDK Complex
D. MPF

E. APC-cdc20

Choose the correct answer from the options given below:
a) A.C.D.E.B
@) B.C.E.A D
© B:ADELC
m) A.D.B.E.C




HefEg = 399 o F 79 1 g s

A. G1 SEfda CDK Simdad
B. APC-cdhi

C. S Phase 95f@a4 CDK ¥
D. MPF

E. APC-cdc20

A BT 70 Aedt & § I98 30T & T4 hifA:
a) A.C.D.E.B
) B.C.E.A. D
o B.A.D.E.C
m) A.D.B.E.C

Answer Given by Candidate : B

Sl. No.86
QBID:12045361

Identify the correct order of signal transduction pathway

A. Binding of ligands to cell surface receptor
B. Termination of signal
C. Generation of intracellular second messenger
D. Intracellular signaling cascade
E. Effector response
Choose the correct answer from the options given below:
(a) A.C.D.E.B
) B.C.E.A.D
© B.ADEC

m) A.D.B.E.C
Hehd UHHT 9Y & Gal BH &I 9ggF]

A. SRF1 9ag 9%l W s &1 98
B. H&d &1 99194

C. aNE®IR® G0d SeEaE®

D. s SIREE Sields Siwes

E. ST THIT

A B 70 Aeheul & 9 Il 30 & 994 il
(a) A.C.D.E.B
) B.C.E_.A D
© B.ADEC




() AD.B.E.C

Answer Given by Candidate : A

Sl. No.87
QBID:12045362

The nuceoplasmic index, where the nuclear mass and cytoplasmic mass of the
cells are i the state of optimum equilibrium depends upon

A. Nuclear volume
B. Cell volume

C. Nuclear mass

D. Cytoplasmic mass
E. Centrioles number

Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only

(¢) A and C only
(p) A and D only

raTatiE AR, W5l R SR S QR GodE R Sgerefois GoudH spad
TR H 7 | ey et 2

A. giFER e

B. St &1 saad
C. g SoaaA

D. SEcranfod® G|

E. TR&= &1 IE

A fow a7 faeedl # ¥ GE 3a% &1 994 hifaw
(A) A 3R B &aa
(B) C 3R D Faa
(€) A 3R C Faa
(D) A 3R D Fa@

Answer Given by Candidate : D

Sl. No.88
QBID:12045363




Identify the mhibitory neurotransmitters from the following:

A. Glutamate
B. Aspartate
C. Cysteme
D. Glycme
E. GABA

Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only

(¢) A and C only
(p) D and E only

FafiEd 7 9 Jeas ~gRicade & 9garA|

eHeE
THIee
=N
. TS A
. GABA

MY 0w

A BU 70 Ahedl & O TG0 30 &1 994 il
(A) A 3R B &aa
(B) C 3R D Haa
(©) A 3R C Faa
(D) D 3R E Had

Answer Given by Candidate : B

Sl. No.89
QBID:12045364

The function of a gene depends on expression of

A. DNA

B. ENA

C. Protein

D. Metabolite
E. Lipd

Choose the correct answer from the options given below:
(A) A and B only

(8) C and D only
(©)




B and C only
(p) A and D only

W & &1 1 sfiegied Mefafed & g el @ |

A. DNA
B. RNA
C. Ui

D. FeEaBe
E. fafts

A 6w 70 Mepedl & O TG0 30X & 994 il
(A) A 3R B &aa
(B) C 3R D Haa
(¢) B 3R C Faa
(D) A 3R D Fa@

Answer Given by Candidate : A

SI. No.90
QBID:12045365

Identify the features of cancer cells

A. Rapid cell growth and division

B. Reduced cell growth and division

C. Loss of normal control of cell divison
D. Reduced angiogenesis

E. Utilize glucose at reduced rate

Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only

(¢) A and C only
(p) A and D only

F HifET F &0 & ugaET

A. titg Siftrer afg ik fve
B. 0904 S afg SR fGymee
C. i AU & 9HM Hoan &1 59

D. {99 F alesiaaa

E. W& &1 30=g Tid 9 3udnT

AR G v fahedl A ¥ HElL 3O & 9h hiTAT:




(A) A X B %o
(B) C 3R D Haa
(©) A 3R C Faa
(D) A 3R D Fa@

Answer Given by Candidate : A

Sl. No.91
QBID:12045366

Identify the methods to measure apoptosis in-vitro in mammalian cell culture

A. MTT assay
B.LC MS
C. NMR
D. Crystal violet assay
E. PAGE
Choose the correct answer from the options given below:
(A) A and B only
(8) C and D only
(c) A anc C only

(p) A and D only
YN S 957 ¥ gafde tTOueiay &1 3 & 7 &5y 1 agee s

A. MTT wdigu
B.LC MS

C. NMR

D. f<ca grgicie giem
E. PAGE

AR QT v fasRedl A | HEl 34X T T8 HITAT:
(A) A 3B &Had
(B) C ¥R D Haa
(C) A 3R C &aa
(D) A SR D %ad

Answer Given by Candidate : B

Sl. No.92
QBID:12045367




Identify the tumor suppressor genes from the following

A. Ras
B. Raf
C. PTEN
D. Myc
E. p53
Choose the correct answer from the options given below:
(A) A and B only
(8) C and E only
(¢) A and D only

(p) A and E only
SH | IR B WA &1 Ugdld Sy

A. Ras
B. Raf
C. PTEN
D. Myec
E. p33

A ow av Aeedl # ¥ 8 303 &1 994 hifaw
(A) A 3R B &aa
(B) C R E Faa
(©) A SR D Had
(D) A 3R E ®Had

Answer Given by Candidate : D

Sl. No.93
QBID:12045368

Which of the following organizations are mvolved in Covaxin production in
India.

A.DBT

B. CSIR-CDRI
C. ICME-NIV

D. Bharat Biotech
E. Bharat serum

Choose the correct answer from the options given below:
(A) A and B only
(8) B and D only




(©) A and C only
(p) C and D only

TR T S I G § SidedE & Iare § i Ot |

A.DBT

B. CSIR-CDERI
C. ICMR-NIV
D. HRd SWicE

E. yra |

A few v faeedl # & HEl 30X &1 994 hifaw:
(A) A X B ®ad
(B) B 3R D &ad
(©) A 3R C Fma
(D) C 3R D Faa

Answer Given by Candidate : B

Sl. No.94
QBID:12045369

Given blow are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Bateson & Punett showed that the linked genes do not obey
Mendel's law of independent assortment.

Reason R: The Dihybrid test cross ratio for closely linked genes produced 50%
parental and 50% recombinant types of progeny

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(€) A is true but R is false

(D) A is false but R 1s true

A 2 Fu v v § s fEeus (Asseﬂionﬁ)ﬁmﬁﬁ[@aﬁ%?ﬂ'm
39& PRI (ReasonR) & 39 #:

HfSThereT A: deqe HR ool o g T Heldsl IOR Aesel & HeATHd
geffetor @ el FET #R §

FROT R : deg Teldal 0 & foiw Bersfas aleor s/ seqaa 50% Ja& 3R
50% JA-HAST GHR HT Hdld H TG HdT § |

IRIFT FUT o Hella H. a7 B0 70 kel & S O6L 30 a7 9dd hiTaT |




(A) A3R REEr 87 § 3R R AH &g e ¢

(8) AN RoE acu & ofthad R A S O carear 76T ¢
(C) ATH & oifehel R 316cT &

(D) AT § oifhd RET &

Answer Given by Candidate: A

Sl. No.95
QBID:12045370

Given blow are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Oligosaccharides with unique structures are components of a variety
of glycoproteins and glycolipids on the outer surface of plasma membranes.
Reason R: The mfluenza virus mfects animal cells by binding to the cell surface
glycoproteins as first step of infection.

In the light of the above statements, choose the correct answer from the options
oiven below:

(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(€) A s true but R 1s false
(D) A 15 false but R 15 true

A 27 Fua Br v § v fEeus (Asseﬂionﬁ)$@ﬁﬁ@?%?ﬁm
38 &NUT (ReasonR) & 9 H:

HfEFUa A - Nfeeess Gfeee GtTar & @1y §id § S oA | & gl
TG W Eud ensEme AR sorsHiis & gew ¥ |

RO R : SeoluaTl TauIv] Sieq AR &7 ThiAd &l & | $H HHAUT & JAH
TROT A FHIfH Hag W FU TABHEA & Ig a9 Kl ¢ |

IRTFT FIA & Held A, a9 G0 70 Gdhedr # T oL SO & 930 ShiTaT |
(A) AR R IcT § 3R R AFH TE e §
(8) A ¥R R Tcw &, afdhad R AFT T8 =T 787 &

() AGcT & ofea R3O &

(D) AT T ¢ efa ROT &

Answer Given by Candidate : B

Sl. No.96
QBID:12045371




Given blow are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A: Each Dideoxynucleotide used in Sanger's method of DNA
sequencing can be linked to a fluorescent molecule that gives all the fragments
terminating at that nucleotide of particular colour.

Reason R: The DNA sequence is read by determining the sequence of colour in
the peak as they pass through the detector.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both A and R are true and R is the correct explanation of A

(8) Both A and R are true but R is NOT the correct explanation of A

(€) A s true but R is false

(D) A is false but R 1s true

Jr 2 wue BT 9w §: s ifEfeus (Asseﬂionﬁ)ﬁmﬁmﬁgﬁm
39 HNOT (Reason R) & &9 #:

IHAFUYT A: TS SIS Feaerss DNA 3aaA & 9 fafer & 3oamr giar
€ | TARRIee AL & Holdel &I Aohall ¢ | off @90 1 & 39 fFordigrss & wal

ST T TATGT ST £ |

FROT R : DNA 3e3pA ofd 3 1 &1 33hd & g AeiRor far onar § == @
HEEE A § 99 XA §

IWITFd FUA & HAF A, 7 87 70 Tgdhedl § I oL 30 &1 994 hiTaT |
(A) AR R 907 § 3R RAS T8 e &

(8) AR RoHT Oc7 § ofFd R AST T oOrem 767 &

() A®cH & ofdhet R 376cT &

(D) A3HH § ofdhed REcH &

Answer Given by Candidate : A

Sl. No.97
QBID:12045372

Given blow are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A: Polyploid species of common bread wheat have evolved by
hybridization followed by chromosome doubling mn mterspecific hybrids by
treatment with colchine.

Reason R: Colchicine induces gigantism in allopolyploid species of bread wheat.
In the light of the above statements, choose the correct answer from the options
aiven below:

(A) Both A and R are true and R 1s the correct explanation of A




(B) Both A and R are true but R is NOT the correct explanation of A

(€) A is true but R 1s false
(D) A is false but R is true

A 27 P BE o §: v EeuE (Asserion A) F w7 A T § A gEwr
3% HNUT (Reason R) & &0 H:

HfARUT A AT g IEIATT THRMST FHOT &F GIRT Pl & HiERar
AR 3wcR fafdse Heohe & A T A A § GhfEd gam ¢ |

HROT R - lehT3a g T GEgAOId Sl # ITAsiaar Scdesd &l |

IWIFT FAF & Held A, =7 BT v Gwedl § § 551 SW & 93 I |
(A) AXR R Tcg § AT R AF G com §

(8) AN REE acu & ofthad R A S a8 carear 76T ¢

(C) AT & afthet R 30T &

(D) AT § oifhd RET &

Answer Given by Candidate : A

Sl. No.98
QBID:12045373

Given blow are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: The lacZ gene 1s present of pUC cloning vectors as the selectable
marker by which recombinants may be selected through insertional mactivation
of lacZ gene.

Reason R: IPTG acts as gratuitous mducer of lacZ genes due to which
recombinants produced m pUC vectors may be selected by Blue-white
SCreening.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both A and R are true and R 1s the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(€) A s true but B 15 false
(D) A is false but R is true




A 27 T Bv v § v ifEeus (Asseﬂionﬁ)?@ﬁﬁ@ﬁ%m’m
3I8F FHUT (ReasonR) & 0 H:

&Ry A - LacZ Sier pUC aTssh O IIadNT AR ol o 39edd &idr & |
TS gaRT qerdierst, LacZ Siter &r felders @fshaer & #Aregd & =afad g1 @ehar

B

FROT R IPTG Aggad W & a5 &4 ol § =it LacZ Siter & 3cdiaeh § |
gedierst PUC ager # ST & &6 @erse Shifaar & ganr =afad gidr & |

IRIFT FUA & Helld H. @ 6T 77 dhed # T T6L 30l & 94 hITaAT |
(A) AR RS 9T § 3R R AH |8 T §

(B) AR R O & ofeha R A S Ty T =67 &

() AT § dfdhad R3EH §

(D) AH § Afhd RET §

Answer Given by Candidate : A

Sl. No.99
QBID:12045374

Match List I wath List IT

List-I (Group of Organisms/Plants) List-II (Grouped as)
A. Bacteria and Blue-Green Algac I. Tracheophyta

B. Bryophytes and Pteridophytes I1. Spermatophyta
C. Pteridophytes and Gymnosperms IT1. Monera

D. Angiosperms and Gymnosperms IV. Embryophyta

Choose the correct answer from the options given below:
(A) A-IV, B-I. C-II. D-III
(8) A-I, B-III., C-IV. D-II
(c) A-IL B-III, C-IV, D-I
(p) A-IIL, B-IV, C-I. D-II




= 1 & Ty =l 11 F1 e Sy

-1 (@it SR e &1 ) -1 ([T E)
A. oiam] 3R & F Bara 1. TifearEEen
B. SHged K fesrmgey I1. soHermrger
C. TRErFEed 3R sHIgadi 111, g

D. gasten AR AFgasiel IV. ufEdeEe

i feu 77U fasedi | 9 W5l IR &1 90 B
a) A-IV, B-1. C-II, D-III
(8) A-I, B-III, C-IV. D-II
(c) A-IL B-III. C-IV, D-I
(p) A-IIL B-IV, C-I, D-II

Answer Given by Candidate : D

Sl. No.100
QBID:12045375

Match List I with List IT

List-I (Plants) List-II (Economic Importance)
A. Rauwolfia serpentina I. Insect repellents

B. Vinca rosea I1. Tooth paste

C. Schizyzium aromaticum I11. Blood Pressure

D. Azadirachta indica IV. Cancer

Choose the correct answer from the options given below:
(A) A-IV, B-I. C-II, D-III

(8) A-III B-IV, C-II, D-I

(¢) A-IL B-IIL, C-IV, D-I

(o) A-I, B-IV. C-II, D-III

& wa g e fes fifse

-1 (@) gA-11 (anfife mea)
A, GaifEEGT SUi<ar 1. Fie ufgeftf

B. fG=sriforar 1. ey o

C. Rrorslags geanesH I11. ¥ g9

D. FoavaeT slaasr IV. H

A BT 77 AOwedl & T OO ST T 99 hilalg:




(A) A-IV, B-I, C-II, D-III
(8) A-III, B-IV, C-II, D-I
(c) A-II. B-IIL, C-IV, D-1
(0) A-IL B-IV, C-II, D-III

Answer Given by Candidate : B




